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General Instructions :
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(i)
(i1)
(iit)
(iv)
(v)
(vi)

(vit)

There are 25 questions in all.
All questions are compulsory.

Questions No. 1 - 14 are of 2 marks each, and are to be answered
in about 30 words.

Questions No. 15 - 21 are of 4 marks each, to be answered in about
80 words. '

Questions No. 22 — 24 are of 6 marks each, to be answered in about
200 words.

Question No. 25 carries 6 marks and is to be answered based on the
passage given.

Answers should be precise and to the point.

o Ve @ T o § 7

What is meant by the term ‘infotainment’ ?

HieHlas e ¥ Fa1 aed 8 2

What is meant by cultural diversity ?

TeE S 3 Wfed A dArgdT B TER T4 FaT 91 2
Why did Nehru call media as a watchdog of democracy ?
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o/ Th # Tl ) 9 R TR e & 2

How were labourers recruited in tea industry ?

ufrem & deof # od-frera @ wn ey 2 2

What is the meaning of secularism in western context ?
T H A % THE wd F § ?

What are the main sources of income of Panchayat ?
wified aren (el Sifa oqg 6l w1 s 8@ 2

What is a proprietary caste group ?

fFd & INGO’s & 7 fafay |

Name any two INGO’s.

s Tl v & = g g ?

What does the term social stratification refer to ?

Sufavare & = 34 g ?

What is meant by colonialism ?

s duq (Refea fewrgaym) & o @ e ST |

Explain the theory of relative deprivation.

TRATF ATell & THER-TE & SvEdeE s gfg & T SR 4 ?

What were the reasons of amazing growth in Indian language

newspapers ? '

F5F (FfFrm) IRER iR fawga (Tewese) fer & | we F |

Distinguish between a nuclear and an extended family.

SitEmfieT &1 aead 2 2

What does industrialization refer to ?

P.T .0
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TP & IR FE HeT ¥ g 2
Idar
e fofaer et &t WEfTET 8 2
Why is it difficult to define the Nation ?
OR

What is the relevance of civil society today ?

TS & s Hifg @ =reEr s |

Explain the economic policy of liberalization.

FREE F A e qd g SHSIE Sided R s feweh fafew |

Write a note on tribal movement with special reference to Jharkhand.

Sfafes g0 ¥ S a% Sfd @ TR § 9 ufedd o § | 39 FU F WE
HifT |

Agdar
g A H ST Gg9H o I & AWied & A T SR @ S
FHIfST |
The institution of caste underwent major changes from colonial times
to the present day. Explain.

OR

Explain the main factors influencing the formation of tribal identity
today.

. . s 3
=] 35 sHbST enedlY] ﬁ; Sl ged &0 %' ?

What are the social welfare responsibilities of the panchayats ?

o & snfeanadl &ty faard #r § 2

What are the major issues of concern of adivasis today ?

g wifa & wfager wRomy &=m 4 2 :

What were the adverse impacts of green revolution ?
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3 fafre @l &t o i 59t feER % ' § @i @ SerEa
wi

Enumerate different levels at which Sanskritisation as a concept has
been criticized.

FY-e= T A, aﬁfw(ﬁﬁm)wmwaﬂfﬁmm%w
I § | AT FHiST |
g

MR g6 ¥ g 3R fvaerl & fray e (3eadi) &1 aneE o @ 2

In agrarian societies, periodic markets are a central feature of social
and economic organizations. Explain.

OR

How many caste and kin networks contribute to the success of a
business ?

g I o i S S %, 399 & FW A S AR T g | I
STMET SH AR |

The more mechanised an industry gets, the fewer people are
employed. Explain by giving a suitable illustration.

frefafed S8 &l Teat I8 T 9 & W AN

AT § yHE W H ghe, Wig-ggel ® &

T foool : IR ¥ fusd o Ui oY & oty W gRra y§el & 9Em ¥,
SRl YHe @ReT %5 1 WAl § ¢ S g, qﬁ&g‘%%l 5 2005 — 06 &
qe § 2010 - 111?(1:611@21%@%3@%5@?[ i @ 60 a@ R
Afys 59 € |

fooivsl it T7 @ fF 3@ WEw § ofg @ g SR @ S gEn A (JSY),

ol TR & AT =9 A T Ry gg-R F N HE & faw an e
qr | 3§ A5 (JSY) d 9 AT H Ahe WEFal ol GEITIG N99 el

fem 2

T WoEEd e WO 4 39 i S Uy g sEwn yRY fR 2 1 S
deH it Wt wiersl & g9 e, U <aiedl SR g fRE @ SfHER <

21

&7 : g 2TERT 3AF FleA, IF feoeh, @Ay 18, 2011

5 P. T



() v Ry g wEEE % sl s SfeR Yem T T 2

(i)  2005—2011 % &= A R fory @ f gg- & R &9 & 6 T
Gfad 0T @ THd § 7 THH UROTH AT g3 2

Read the passage and answer the following questions :
Hospital deliveries on the rise, maternal deaths dip

New Delhi : Institutional deliveries, where children are delivered at
health centers or hospitals, have picked up in India over the last
five-odd years. Around 60 lakh more infants were born in safe
confines of health care centers in 2010 — 11 as compared to 2005 — 06.

Experts say one main reason for this spurt is the Janani Suraksha
Yojana (JSY), which was launched in April 2005, to reduce India’s
shamefully high maternal and infant mortality rates. The JSY
promoted institutional delivery among would-be mothers by providing
cash assistance.

Emboldened, the Ministry has launched the Janani Shishu Suraksha
Karyakaram (JSSK) this year. The inititative entitles all would-be
mothers free delivery, free drugs and free diagnostics.

Source : The Times of India, New Delhi, October 18, 2011

(1) What are the entitlements given under the JSSK ?

(ii) What were the possible reasons behind an improvement in low
maternal and infant mortality rates during 2005 — 2011 ? What
was the outcome ?



